I (k
17 2005 2 28 = 356.07
. | | |
1 139 34 36 18
974 139 34 36 22
= = 1 11 10 139 36 36 24
?) ha
19 35,607 3,551 1,411 2,857 20 8,302 96 543 45 879 17,903
20 35,607 3,546 1,395 2,823 22 8,372 98 543 45 847 17,916

33,537,164 1,533,593 11,099,292 2,662,309 8,345,672 8,523,864 9,258,923 74,960,817

20
35,639 2,514 21,435 5,602 56,249 46,160 20,577 188,176
20
Q)
()
[ | I (m/9)[(m/s)] | [ [ 1

15 146 36.0 -6.6 73.3 245 2.2 23.9 1,3485 55.0 60 139 120 46 0
16 159 394 -55 715 222 24 27.1 1,238.0 120.5 104 109 119 32 1
17 145 36.6 -5.6 70.8 154 25 22.9 1,0385 715 75 143 115 31 2
18 15.2 36.7 -7.5 71.1 127 2.4 30.5 1,589.5 106.5 45 143 133 43 1
19 158 40,5 -55 71.0 128 24 31.9 9845 795 43 181 101 40 0
19
1 59 17.7 -35 67.0 26.4 2.7 26.2 33,5 315 9 17 3 2 -
2 8.9 238 -34 63.3 212 3.0 25.3 155 85 10 14 3 1 -
3 8.2 249 -55 63.2 208 3.9 31.9 235 90 5 16 8 2 -
4 11.7 27.3 -0.8 64.8 12.8 3.0 31.2 73.5 23.0 2 17 8 3 -
5 17.7 30.7 49 739 226 2.0 15.2 119.0 31.0 1 17 10 3 -
6 22.0 31.8 109 76.1 32.8 2.0 10.8 95,5 51.5 2 14 1 3 -
7 23.9 35.0 18.2 77.7 305 2.1 18.6 181.5 51.5 1 5 18 7 -
8 28.7 40.5 21.2 69.0 29.0 2.0 23.7 540 320 3 19 6 3 -
9 28.7 354 145 76.5 336 2.2 24.8 235.0 65.0 13 9 8 -
10 171 26,6 7.2 748 29.2 1.6 13.4 1180 795 3 17 8 3 -
11 10.5 20.7 -1.7 72.1 288 2.0 13.7 150 70 4 13 11 2 -
12 57 11.8 -3.6 73.1 27.0 2.1 13.2 205 48.0 3 19 6 3 -
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& o o/md | gup | PO | | BB R B W
-1 [ RMIT 52K PE8 155 1744 48,500 283 1:1.5 e W 2F |78 TmifE -
B2 |SFET A NET2438 3K 1 42,200 280 1:1.5 H W IF /5 6.5mTiiiE -
Elp-3  |[FEEFHT S B WT1954%3 51,600 234 1:1.5 Fo W IF |76 6.5mTiiiE -
By -4 Wl BT BB 17798241 | 47,200 327 | BF1.2:1 | it W 2F |3 4mitiiE -
FEBy-5  [FREKIT S RAAT L1 1%&245) 46,000 197 1:1.2 H W 2F R 6mitiiE -
-6 [FABNT TR 29352 47,700 330 1.2:1 e W IF |4k 4.5miliE -
TEB-7 [ RIR LM F15 RS 1859% 441 44,600 236 1:1.5 e W 2F | 5.8miliE -
-8 [RIR FHT 1A 181054 43,000 212 2:1 Fo W 2F |6 4.5mTiiiE -
FE89-9 AN T4 L BR446 % 44,800 406 1:1.2 i W 1F b 3.4mTiiE EHE
FEB-10 (YR KNT5245)113653 %41 45,200 323 1:1.5 o S 2F |ALH 6miiiiE -
FEBp-11 (7= RIANT R 7324 14 44,700 339 1:2 Wi W 2F |4k 6miiiE -
FEsr-12 (RIS A L5353 32,000 397 1:1.5 e W 2F |3 5mifiiE -
FE8-13 (S R T R14%2 49,900 179 1:1 et W 2F |k 6mrfiiE -
FE-14  [ERITFILE67E2 46,300 389 1:1.5 i W 2F |k 5.5mifiiE -
FEBp-15 (BT A LR2995K4 42,700 450 1:1.5 i W 2F | 6.5miiiiE -
PVeBp-16 Y KET T/ NEIEHE61 7% 15 45,400 306 1:1.5 W 2F |FEPE 6mifiiE -
EBP-17 (W75 W7 5408 341 46,200 330 | AIP1:1.2 | B W 2F | 5.4miE —
FE8r-18 (YR KN 5222 BHT FFd5722 44,600 308 1:1 Fo W 2F Ak 4.4mTiiE -
FEB9-19  [CRILF T 2K 1 L5196 45,000 262 1:1.5 i W 2F | P 6miiiiE -
FEB-20  [ABENT TR 24163%9 34,200 256 1.2:1 Ht W 2F |7 4mFLE -
PEBF-21 |2 BT V511381266733 33,200 231 1:1 Fo W 2F | E 5.5mTiTiE -
FeBy-22  (PAISNT 3R 52462% 144 9,000 559 | B1:1.5 | #h S 2F |7 3.6mifiE -
FE85-23 /NI ET02% 241 37,000 427 | B | e w 2R [# SmifiE -
EBP-24  [HERT T 0 R 129673 41,200 299 1:1.5 H |7 5.5miiE -
1EB5-25  [HEANT 248773 41,800 390 1:1.2 Ht W1F |[FE 6miiE -
VeEly-26  [HAH] 7 =38 154473 44,400 397 1:1.5 e W 2F |4k TmRIE -
Bp-27  [EAEmE2—3—28 28,200 396 1.2:1 S W 2F |3 2mifiE -
PEBF-28 [T HEFR161733 28,700 239 1:1.2 Wi W 2F | P 6miiiiE -
EBF5-1  |GHERT T A RT708%9 59,500 308 1:3 Ht W 2F |3 11.5miiE -
EBF5-2  [EIART24% 79,000 171 1:1.5 i S 3F | 22mFaE -
EBF5-3 [ RBET TR THT2316% 51,400 338 1:3.5 i S 2F |74 8.5m iR E -
PERFT-1  [YEKRETF T 1716927 44,600 1,289 1:2.5 e S 1F |3 9.5mifiE -
PEBFT-2 [ RABIT R F 13775 14+ 45,600 1,920 1:1.2 o S 2F  |F§ 10miRoHE -
PEBP7-3  [JREMT973%9 55,000 979 1.2:1 Hh S 1F |7 22m R -
EBFT-4  [$hARHT12—3 36,200 561 1.2:1 H W 2F | 1lmriiE -
FEBF9-1  [2emT12%1 24,600 33,058 1:1.5 s |7 12mriE =%
1EEF9-2 [ RAGMIT 320454 29,700 1,893 1:1.5 o S 3F |FF 6miE -
EEF9-3 | F I RT3 20065 21,000 21,211 1.2:1 e S 3F |FE 16mifiE =i
EBF10-1 [SEARRT T2 2 PN5253 191 21,900 782 1.2:1 Fo W 2F |F§ 4.8mTiiE -
PEBF10-2 M) IWT 1% B 17578 14+ 17,100 1,560 1:1.5 Heih W 2F |FE 4.5miiiE -
PEBF10-3 |G PIRTR1E 163151 26,400 781 1:1.5 B WIF | P TmiiE -
EEF10-4 [P BETFP E-5TH 1 18,900 856 | BIFL1:1.2 | Bt W IF [FEPE 6.5mIRE |k palsE
E8710-5 [ ET 3R/ N868 241 12,400 297 1.2:1 ot W 2F |4k 4.8mTiE -
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